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1 HF =8 39 35 741 4.8 169.2 514)1] fil 47 42 89] 14.4 | 74.6
2| R HIA 42 44 86| 15.6 | 70.4 52| B H HEAX 42 47 89| 14.4 | 74.6
3 HH JafE 43 42 85/ 14.4 | 70.6 53| FFH i — 42 40 82| 7.2 |74.8
4|\1ERE SCB 41 41 82/10.8 | 71.2 54| E¥F JRAT 42 46 88]13.2 | 74.8
5l 1E 41 41 82/ 10.8 | 71.2 55| B KAt 46 41 87| 12.0 | 75.0
6|8F HZ 42 40 82/ 10.8 | 71.2 56| fEH 32 46 47 93]/ 18.0 | 75.0
TUNEE REE 41 40 81| 9.6 | 71.4 57 AR =5 44 43 87/12.0 | 75.0
8|HpA; B 42 44 86/ 14.4 | 71.6 58|= M A 44 43 87/12.0 | 75.0
olpnE s 41 39 80| 8.4 |71.6 59| KH fnik 53 52| 105/30.0 | 75.0
10 &+ KT 42 43 85/13.2 | 71.8 60| g5 £IE 42 44 86/ 10.8 | 75.2
11| Bi9E IR 45 40 85| 13.2 | 71.8 61 | AnA FEASf 42 49 91| 15.6 | 75.4
12\%@)1l 1F 41 38 79| 7.2 |71.8 62| FEM = 45 39 84| 8.4 |75.6
135K f# 41 44 85/ 13.2 | 71.8 63| B fdiAst 42 42 84| 8.4 |75.6
UER £= 40 38 78/ 6.0 |72.0 64| FEA EF| 46 44 90| 14.4 | 75.6
15/ %K Hoc 45 45 90/ 18.0 | 72.0 65/ B FhEz 48 48 96/ 20.4 | 75.6
16| $nA =— 43 40 83]10.8 | 72.2 66| Tk F5 51 45 96/20.4 | 75.6
178Kk Fl= 43 39 82| 9.6 |72.4 67 Wit 2 45 45 90| 14.4 | 75.6
18/ %1 B 40 42 82| 9.6 |72.4 68| LR iR 44 45 89/ 13.2 | 75.8
19|/AfR 2T 46 48 94| 21.6 | 72.4 69| IR FE 47 48 95/ 19.2 | 75.8
20 /vBK AT 50 43 93/ 20.4 |72.6 NEESH 44 44 88/ 12.0 |76.0
21 | RAMR 38 36 74 1.2 |72.8 1 HA 5 44 44 88/ 12.0 176.0
22/ iAR 1EAL 41 39 80| 7.2 |72.8 2| AT BAT 38 42 80| 3.6 |76.4
23| HFH B 42 44 86| 13.2 |72.8 73|59 B 46 46 92/ 15.6 |76.4
241 FofE 49 42 91/18.0 | 73.0 T4KEF B 46 44 90| 13.2 |76.8
25 8K HER 42 43 85/12.0 | 73.0 75 5k —& 45 45 90| 13.2 | 76.8
26| 1efk [R5 41 43 84/10.8 | 73.2 76| KL B2 39 39 78] 1.2 ]76.8
27|59 s 46 44 90| 16.8 | 73.2 TR I& 42 41 83| 6.0 |77.0
28|k = 44 46 90| 16.8 | 73.2 78|80 iEHE] 48 40 88/10.8 |77.2
29 %1 — 40 37 770 3.6 |73.4 79| IR B — 38 42 80| 2.4 177.6
30\ R EFn 47 42 89| 15.6 | 73.4 80| 1L =EAH 49 49 98/20.4 |77.6
31/INR i 43 46 89| 15.6 | 73.4 81| INE% Wsie 49 41 90/ 12.0 | 78.0
325 Fh— 42 41 83| 9.6 |73.4 82|HTH & 49 41 90| 12.0 | 78.0
33 ¥H W 41 42 83| 9.6 |73.4 83| LI 51X 46 43 89/10.8 |78.2
34| 0 FHak 43 39 82| 8.4 |73.6 84 |H 1L 7= H 52 49| 101]22.8 |78.2
35| MREFA N 41 41 82| 8.4 /73.6 85|#n AR B 49 50 99/20.4 | 78.6
36| BAtR L& K 47 41 88/14.4 | 73.6 86| —F 47 57| 104]/25.2 | 78.8
37K 5 46 48 94| 20.4 | 73.6 872 H # 58 50/ 108]28.8 |79.2
38| HA JE— 42 39 81| 7.2 |73.8 88| Er Y AT 56 52| 108]28.8 |79.2
39| HAT sEiE 48 38 86| 12.0 | 74.0 89 ¢k EA 54 47/ 101/21.6 |79.4
40| I w3 44 42 86| 12.0 | 74.0 90| 1L B 44 50 94| 14.4 [79.6
411877 BB 45 47 92/18.0 | 74.0 91 |8y IS 45 49 94| 14.4 | 79.6
423N tRi& 48 44 92(18.0 | 74.0 92|18 =1 44 50 94]14.4 |79.6
43| Wik 41 45 86| 12.0 | 74.0 93| Hif FH FERH 52 47 99/ 19.2 |79.8
44|/ fiR— 39 40 79| 4.8 [74.2 U\ H)I| FHE 61 48| 109 28.8 |80.2
45| B HE 47 44 91] 16.8 | 74.2 CHEEREN 52 48| 100/ 19.2 | 80.8
46 A Fogh 44 41 85(10.8 | 74.2 96 | INpkE BE— 60 53| 113/31.2 |81.8
47\ K1 & 43 42 85| 10.8 | 74.2
48 | 7K EXKER 45 40 85| 10.8 | 74.2
49 |50 FEE 48 42 90| 15.6 | 74.4
50 BRI Bk 44 39 83| 8.4 |74.6
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